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Two measuring sticks are exactly the same length.

The scale units on the two sticks are different. Each stick is marked with equally spaced units.
The first stick starts at 0 and has 462 marks.

The second stick starts at 0 and has 385 marks.

When the sticks are lined up so the two zero marks are matched, the 462 mark and the 385 mark also match
exactly.

As you scan the measuring sticks, starting at zero, what is the very next set of marks on the two sticks that
match exactly?

What other marks match? Explain how you know.

Inside Problem Solving: Measuring Up | © 2021 The Charles A. Dana Center at The University of Texas at

Austin | This work is licensed under a Creative Commons Attribution-NonCommercial-NoDerivatives 3.0
Unported License ((CC BY-NC-ND 3.0): https://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US



https://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US

— Inside Problem Solving: Measuring Up —

Inside Problem Solving: Measuring Up | © 2021 The Charles A. Dana Center at The University of Texas at

Austin | This work is licensed under a Creative Commons Attribution-NonCommercial-NoDerivatives 3.0
Unported License ((CC BY-NC-ND 3.0): https://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US



https://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US

	Measuring Up
	Level D


